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Simplify each square root. Sec 8-1: The Pythagorean Theorem and its Converse
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Find the length of each missing side. Give non-integer
answers in simplified radical form.
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Do these lengths form a right triangle?

11, 40, 417 12, 35, 377
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Theorem 8-2 Converse of the Pythagorean Theorem

If the square of the length of one side of a triangle is equal to the sum of the
squares of the lengths of the other two sides, then the triangle is a right triangle.

Pythagorean Triple:

3 natural numbers that make the
Pythagorean Theorem true.

3 natural numbers that actually

form a right triangle.
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Most common Pythagorean Triple: 3, 4, 5

Other common Pythagorean Triples:
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Is this a Pythagorean Triple?

Yes

28,45, 53



Find the third side of the right triangle. All sides Do these lengths form a right triangle?
are natural numbers.
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- > If it isn't a right triangle then it is either an
90; e ] acute triangle or an obtuse triangle. Which one?

Acute Triangle because side for Hypotenuse is
too short for a right triangle.




